4567 ROUTE 9 NORTH 2nd Floor HOWELL, NJ 07731-0580 TOWNSHIP OF HOWELL Phone: (732)938-4500 PO BOX 580



#### OT AIHS

HOWELL TWP - PUBLIC WORKS P.O. BOX 580 4567 HWY 9 NORTH, 2ND FLR HOWELL, NJ 07731

### VENDOR

Vendor #: FARMI005

ATTN: MARLA MOORE TINTON FALLS, NJ 07724 FARMINGDALE RECYCLING 1861 WAYSIDE RD

## Purchase Order

THIS NUMBER MUST APPEAR ON ALL INVOICES, PACKING LISTS, CORRESPONDENCE, ETC.

NO. 21-00714

ORDER DATE: 02/18/21

DELIVERY DATE:

STATE CONTRACT:

VENDOR ACCT NUM: F.O.B. TERMS:

VENDOR PHONE #:

**VENDOR FAX #:** 

REQUISITION #: R0-03619

CHECK NO. PAYMENT RECORD

DATE PAID

CLAIMANT'S CERTIFICATION & DECLARATION I do solemnly declare and certify under penalties; of the law that the within bill is correct in all its particulars; that the articles have been furnished or services rendered as stated therein; that no bonus has been given or received by any; person or persons within the knowledge of this claimant in commercian with the above claim; that the amount therein stated is justify due and lowing; and that the amount therein				QUANTITY 1.00
CLAIMANT'S CERTIFICATION & DECLARATION I do solemnly declare and certify under penalties; of the law that the within bill is correct in all its particulars; that the articles have been urnished or services rendered as stated therein; that no bonus has bee given or received by any; person or persons within the knowledge of this claimant in connection with the above claim; that the amount therein stated is justify due and owners and this the		7		RECYCLING DROPOFF
DECLARATION alties; of the law that the stricles have bee to the articles have bee to the articles have bee to the the knowledge on thin the knowledge on that the amount ther that the amount ther				DESCRIPTION
Marie Control				NO.
I, having knowledge of the facts, certify that the materials and supplies have been received or the services rendered; said certification being based on signed delivery slips or dther reasonable procedures.				NOTICE: ACCOUNTI T-14-56-02081-000 RESERVE FOR RECYCLING
MION  tify that the materials he services rendered; and delivery slips or edures.				NOTICE: TAX EXEMI
APPROVAL TO PURCHASE  DO NOT ACCEPT THIS ORDER UNLESS IT  IS SIGNED BELOW			TOTAL	NOTICE: TAX EXEMPT - TAX ID: 21-6000749  OUNT NO UNIT PRICE  XXX  404.8900
PURCHASE S ORDER UNLESS IT BELOW			304.89	TOTAL 001.89

stated is justly due and owing; and that the amount charged is a

OFFICIAL POSITION

DATE

PO BOX 580 4567 ROUTE 9 NORTH 2nd Floor HOWELL, NJ 07731-0580

TOWNSHIP OF HOWELL

VENDOR MUST SIGN CERTIFICATION STATEMENT ON THIS VOUCHER. MAIL VOUCHER & ITEMIZED BILLS TO:

TOWNSHIP MANAGER

DEPT. HEAD

DATE MA

TAX ID NO. OR SOCIAL SECURITY NO

TOWNSHIP OF HOWELL

PO BOX 580
4567 ROUTE 9 NORTH 2nd Floor
HOWELL, NJ 07731-0580
TEL (732)938-4500 FAX (732)414-3231

REQUISITION

R0-03619

NO.

ORDER DATE: DELIVERY DATE:

STATE CONTRACT: F.O.B. TERMS: 02/16/21

1.00	QTY/UNIT
RECYCLING DROPOFF INVOICE 1275	DESCRIPTION
T-14-56-02081-000 RESERVE FOR RECYCLING	ACCOUNT NO.
404.8900 TOTAL	UNIT PRICE
404.89	TOTAL COST

The undersigned individual signing this dodument on behalf of Customer acknowledges that he or she has read and understands the terms and conditions on the reverse side and that he or she has the authority to sign this document on behalf of the customer.	Thank you for your business!	ea DUMP & BALE-CARDBOARD	QTY UNIT Description  0.00 EA Tracking QTY  1.14 tn DUMP & RAIE-CABDBOARD Origin	HOWELL, NJ 07731  Contract: Howell Township PO: FAON6150  Generator: Howell Township	Farmingdale 732-751-9041 15 Railroad Avenue Mid-Atlantic Farmingdale, NJ Customer 001810-Howell Township V#614501
knowledges that he or she has read and understands hority to sign this document on behalf of the customer.	SAFITY	County 100%	OUT TARE WEIGHT 38,680 NET TONS 1.14  OUT TARE WEIGHT 36,400 NET WEIGHT 2,280  RATE EXTENSION	Truck: Howell 74   Conta.  Ref: BOL:	Facility:44 Ticket#:15596 User IN:Timothy C. Date-Time In:1/29/21-8:41 am
			INBOUND O INVOICE V TAX Amount	ontainer:	Cell: Out:1/29/21- 8:48 am

The undersigned the terms and co	Thank you for your business		1.01	0.00	γτο	Generato:	Contract	HÓWELL, NJ 07731	V#614501	Cintomor	л л
individual	our busi		Ф 20	YD	LINI	r:Howe	:Howel	7 O UN	TOTAT	TOAU &	, H
The undersigned individual signing this document on behalf of Customer acknowledges that he or she has read and understands the terms and conditions on the reverse side and that he or she has the authority to sign this document on behalf of the customer.	ness!	3 2	RESI SINGLE STREAM	Tracking QTY RESI SINGLE STREAM	Description	Generator: Howell Township	Contract: Howell Township PO: FAON6150	7731	V#614501	inchemos 001010 ii	Farmingdale 732-751-9041
mer acknowledges that he or she ha	It's the Right Thing	SAFETY	County 100%	Origin:Howell -	SCALE IN GROSS WEIGHT SCALE OUT TARE WEIGHT	BOL:	Ref:	Truc	Date	N.J	
as read and u	0			Monmouth	T 36,380			Truck: Howell	Date-Time In:2/3/21-	User IN: Kimberly K.	Lity:44
inderstands			<del>v oltenom mi</del>			Martin managerina managerina managerina di Amana		11 74	In:2/3	mberly	Ticket
			ON STATE OF		NET TONS NET WEIGHT				- 9:01	X.	Facility: 44 Ticket#:15611
					1.01			Container:	am Out: 2		Cell:
				Ā	INBOUND			er:	2/3/21-		The second secon
				Allouit					9:07 am		

PN

Facility:44 Ticket#:15660

Cell:

15 Bailmand Ramingdale 732-751-9041	Facility:44 Ticket#:15664 Cell:
Lo Rallroad Avenue Mid-Atlantic Farmingdale, NJ	ingdale, NJ User IN: Kimberly K.
V#614501	Date-Time In:2/8/21- 9:58 am Out:2/8/21-10:03 am
HOWELL N.T 07731	Truck: Howell 74 Container:
Contract: Howe]] Township po. Fronciso	Ref:
Generator: Howell Township	BOL:
0	GROSS WEIGHT 37,780 NET TONS 0.76
escriptio	
*************	
0.76 ea RESI SINGLE STREAM	County 100%
3	
	30
1	SAFETY
7	LIVE
I hank you for your business!	is the right things
The undersigned individual signing this document on behalf of Customer acknowledges that he or she has read and understands the terms and conditions on the reverse side and that he or she has the authority to sign this document on behalf of the customer.	r acknowledges that he or she has read and understands authority to sign this document on behalf of the customer.

# Farmingdale Recycling - 3277 PO BOX 932899 CLEVELAND, OH 44193



### INVOICE

**Customer No** 4-3277-0001810 Invoice No Invoice Date 02/14/2021 3277-000001275

Page No **Due Date** 

Page 1 of 2 UPON RECEIPT

**Current Charges** 

Howell Township V#614501 PO Box 580 HOWELL, NJ 07731

**Total Amount Due** \$874.75

\$404.89

Please pay total amount due

Billing Questions? Call

# Thank you for your business! Please be sure to remit payments to our lockbox address shown on the bottom of the invoice.

addres	sshown	address shown on the bottom of the invoice.				
Date	Code	Description	Reference	Rate	Ouantity Ar	Amount
		Balance forward :			\$1,544.0	
		Payments :			\$1,074.17	
		Adjustments:			\$0.00	
		Invoices:			\$0.00	
2/03	A2	DUMP & BALE-CARDBOARD	44-15608	-24.00	2.81 TN (9	(\$67.44)
2/03	A2	Vehicle: Howell 74		1	;	1
2/03	A2	π				
2/03	A2	r Name:				
2/03	GS	RESI SINGLE STREAM	44-15611	113.92	1.01 TN \$	\$115.06
2/03	SS	Vehicle: Howell 74				
2/03	S	Contract: Howell Township				
2/03	S	Generator Name: Howell Township				
2/03	SS	RESI SINGLE STREAM	44-15613	113.92	0.95 TN \$	\$108.22
2/03	S	Vehicle: Howell 74				
2/03	SS	::				
2/03	S	Generator Name: Howell Township				
2/05	A2	DUMP & BALE-CARDBOARD	44-15650	-24.00	0.54 TN (s	(\$12.96)
2/05	A2					
20/0	ž Ř	Contract: Howell Township				
2/02	S A	Generator Name: Howell Township				
2/08	3 R	Vohicle: Howell 24	44-15660	-24.00	1.63 IN (S	(\$39.12)
2/08	A i	Contract: Howell Township				
2/08	A2	r Name:				
2/08	ମ	RESI DUAL STREAM-FIBER	44-15661	4.00	1.84 TN	\$7.36
2/08	ST	Vehicle: Howell 74				
2/08	ST	I.I.				
2/08	ମ	Generator Name: Howell Township				
2/08	SS	RESI SINGLE STREAM	44-15662	113.92	1.19 TN \$	\$135.56
2/08	S	Vehicle: Howell 74				
2/08	SS	Contract: Howell Township				
2/08	S	Generator Name: Howell Township				
2/08	GS	RESI SINGLE STREAM	44-15664	113.92	0.76 TN	\$86.58
2/08	SS	Vehicle: Howell 74				
2/08	SS	Contract: Howell Township				
2/08	SS	Generator Name: Howell Township				
2/12	A2	DUMP & BALE-CARDBOARD	44-15728/	-24.00	1.24 TN (9	(\$29.76)
2/12	A2					
2/12	A2	Contract: Howell Township				
2/12	A2	Generator Name: Howell Township				
2/12	SS	RESI SINGLE STREAM	44-15729/	113.92	0.89 TN \$	\$101.39
2/12	SS	Vehicle: Howell 74				
2/12	SS	Contract: Howell Township				
2/12	SS	Generator Name: Howell Township				

	Date Code	Howell Townshi
A2 GS	Code	winchin
DUMP & BALE-CARDBOARD RESI SINGLE STREAM RESI DUAL STREAM-FIBER	Description	
Material / Fee Summary	Reference	4-3277-0001810
	Rate	
6.22 TN 4.80 TN 1.84 TN	Quantity	
(\$149.28) \$546.81 \$7.36	Amount	Page 2 of 2

\$874.75	Current
\$0.00	31-60 Days
\$0.00	61-90 Days
\$0.00	Over 90 Days To
\$874.75	Total Amount Due

# please return this portion below with your payment. Do not attach check stub.

Farmingdale Recycling - 3277 PO BOX 932899 CLEVELAND, OH 44193

**REPUBLIC**SERVICES
Please write your account number on your check and make payable to:

Return Farmingdale Recycling - 3277 PO BOX 932899 CLEVELAND, OH 44193

Please

Payment to:

Please note new remit to address below.

Please update your records. Make sure to send the remit coupon with your payment

**Invoice No Invoice Date** 02/14/2021 3277-000001275

**Customer No** 4-3277-0001810

**Current Charges Total Amount Due** \$874.75 \$404.89

Amount Paid:

PO Box 580 HOWELL, NJ 07731 Howell Township V#614501